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2.6 EXERCISES O e Tty

= STANDARDIZED TEST PRACTICE
Ex5.2,4,12,19,27,and 28

" SKILL PRACTICE

1. VOCABULARY What is a theorem? How is it different from a postulate?

2. % WRITING You can use theorems as reasons in a two-column proof.
What other types of statements can you use as reasons in a two-column
proof? Give examples.

3. DEVELOPING PROOF Copy and complete the proof.
5BC=6

onp. 112
{ forkxs. 3-4

GIVEN b AB

PROVE b AC = 11

STATEMENTS |_REAsoNS

1.AB=5BC=6 1. Given

2.AC=AB+ BC 2. Segment Addition Postulate
3.4AC=5+6 3.z

42 4. Simplify.
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4. % MULTIPLE CHOICE Which property listed is the reason for the last step
in the proof?

GIVEN b m2 59°, m<. 59°

PROVE b m/ ms2

STATEMENTS | Reasons
1. mZ£1=59°,ms2 = 59° 1. Given

2.59°
3. ms1

2. Symmetric Property of Equality
2

3.2

@ Transitive Property of Equality @® Reflexive Property of Equality
@© Symmetric Property of Equality ~ (® Distributive Property

USING PROPERTIES Use the property to copy and complete the statement.
5. Reflexive Property of Congruence: _2_ = SE
6. Symmetric Property of Congruence: If_2_=_2_, then ZRST = ZJKL.

(@) ransitive Property of Congruence: I £F= 2] and_£_ = _2_, then
LF= ¢

NAMING PROPERTIES Name the property illustrated by the statement.
8. 10DG = CT, then CT = DG. 9. LVWX= LVWX
10. IfJK=MNand MN = XY, thenJK=XY. 11. YZ=2Y

12. % MULTIPLE CHOICE Name the property illustrated by the statement
fCD = MN, then MN = CD.

@ Reflexive Property of Equality (B Symmetric Property of Equality
(@© Symmetric Property of Congruence (® Transitive Property of Congruence
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@ ALGEBRA Solve for x using the given information. Explain your steps.
17. GIVEN b QR = PQ, RS = PQ

PQ 18. GIVEN B mZABC = 90°
P~ P
10 -3x 6X°

0 245 R Tox—or
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(21) BRIDGE In the bridge in the illustration, itis

known that 22 = 23 and TV bisects 2 UTW. Copy
and complete the proof to show that £1= £3.

STATEMENTS |_Reasons

1. Given
2.2
3. Given

4.2

@R 1 s o e e

22. DEVELOPING PROOF Write a complete proof by matching each statement
with its corresponding reason.

GIVEN b (S is an angle bisector of Z PQR.

PROVE b mZPQS = JmZ POR

STATEMENTS. REASONS

1. QS is an angle bisector of ZPQR.
2. ZPQS = £SQR

3. mZPQS = mZSQR

4. mZPQS + mZSQR = mZPQR
5. mZPQS + mZPQS = mZPQR
6.2+ mZPQS = mZPQR

7. m£PQS = ymZPQR

A. Definition of angle bisector

B. Distributive Property

C. Angle Addition Postulate

D. Given

E. Division Property of Equality

F. Definition of congruent angles

G. Substitution Property of
Equality
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PROOF Use the given information and the diagram to prove the statement.
23, 24. See margin.
23. GIVEN P 2AB = AC 24. GIVEN > mZ1+ mZ2=180°

PROVE P AB = BC ms1 = 62°
PROVE P m/2 = 118°

\.

D ———————

A B c




